BaER HABERE0EYPERCEETZEFHUET.

(BB mm) . _ N
° . RAHDBORE - GHEHLOBER, BIXEBSTEI 4475 TERZFHO A% - ”
(L7715 0BHE) BBM LR REAEEED BRO-HARTS BH) CHBLCET.  [ogs Lo b LLP Il Al oh
468 - BEH L B B 2R EHEER RUFH-UE2407AB(SAB)
429 Mm = BEAR PSEAREB<EAHZ> RBEESRE)
353 SR THEEH T35 H D SEHEY BEAR| 3IRURA % BHR A RF
7 55U EHD B (HEHS) LT AT A L] H750 xW480 X D250
237 33 EEBHO - BHT gE(kg] 34 CiiACEF:37.5)
234 Ry Tkik s AEBE RBE(LFETHU) ARE oA - —ILNN—0CEUE 7> /N0, — )
217 G R8s |57.8(49700kcal/h)
BEE UMD 176 - TR RCEET B 5 2HBE (kW] |28 |44.2(38000kcal/h)
N — 127 oy -~ - ®E [13.7011800kcal/n)
BRESEROES) \ [T =|o ALCEBE RE(LBBTHU) P EANA #5:95 E2:87 (&8:65,/88:89)
O ShE TV EHEMEL] T893
EEEERNN . 817 1 poge U X4 - #i& X4V s — \
I e B » P & Q5= T M5 X 10 PSRA 5 |0.5kN/#siE AT A (@R ACT00V(50-60H )& R 3 — F1.8n
ol B = ") 7 9 i SHEE AN BAE195 (45#85:1.1)50-60Hz]
il i @ O = BE(dB(A)] BHUB%:(T@ %%:48 B 45
Rl N O x [ppm] L
/] . Q\J\J\X B SR [ C] 100CIT
N ! & BEHD ) RLYESTECOUT 52 wax‘x 21[]2/6[%%?3?41 EE%[WR%%RJW/2JLPemu¢%ﬁt‘m
; N O\ O HCORBRRL Y79 TREMETT, BBV SHBENS K - (6B i8 K. LE. B
HBAAIEER 52D PAEHD KL K%, %%%ﬁ@ﬁ‘/?fﬁéﬁ@ﬁb\([}|: BHD B R ccm%}i &Rt CWEQ %= :CCH(QF 16)
3.5 =% 7 — 7 L EHOC31 HEIBDOBRBMEBEETIENLEICRUET, j‘jhm %i%gﬁ/g% [fjf)%fga .%?GHH :25)
- I%}“kjmkg%ﬁm %¥§B\JI$E%BH%7&7§%\< T:“ét“ A B N + — — =
9. R e il s B TERE — 5 — (240W)
122 FLo9>7KESH RGP AL | BB KBREE+R > B8 Eer
144 PRBKEER 35 BRTRE—F —+ik > 7 Bahak
154 UEARLEE BPERLEE GAVIEE FEEREEE  TARL3URNEE
163 RLEER PRERAEE BUILEE RERIEE BENRLEE 1A% HERUEE
197 -5 57t EEEWEEE SRMLEE ARGLEE T RERIEE BRSY TRERIEE
248 RAEERIES NW2017
296 ~ ;¢ BLEEFE " U
353 o [ ] 7 853 5 2 78 13A - 12A,LPG
— ‘ BtEAE 1) *xEEE. BE5n AKE00KPaEOBMTY
480 250 78 #8358 Ak 41.9~0.7(245~0.45)
70 28 BRRERTIC] |32,35,37~48,50,55,60C  (1762BE)
- #[32BERE(C] [33~48C (1OFME)
L© 40 & = B [55888M - - LBE |0~ (0FRFS) 5 55 cml- <20l
] . i o © - 5B URE EBBZE L AT~9(310~43)cm, 233 cnfE o 1 VBB 8
O - = x| EEAEESKEIL/S] |1.5
TN W— - U [apsmEmIkPa]l [51(0.52) (16L/mings)
+——+ 1 = B L B5R K weom ) 180L(1.5AR) 210L2AR)
N | . (A815C, 5 5%EMC) | $912.5% £13.5% #9154
‘ 2 S EEBIFI: 11 .6~2. 44 (10000kcal/h~2100kcal/h)
Etam b ON ~OFF#19:2. 44~0(2100~(0)
AMEAL 5 [EBBAIC] E8:80 6/8:60(45,50,55,65,70CE NUB X eT#e) 40
- (RE2YU-) % |- g kpa] B8 07(5.8) (BL/m e )
K | ) ” 1&38:83(8.5) (6L/mints) 3% M
ol o = [] 27 LHBKEL] ﬁf}j%f?ﬁ%ﬁ?i%;gf%%
| N % 0 AT e A K AR KO BT = 8
= o | %j” % 2; BLrE=gAKN__|9.3(8000kcal/h)
F | 2 o & BLUrRExA{vF | —EBE(-2-3-4.5 0AD5RE) CEBHBLL D
= U B 68 - _ BlrespLES HEOEETELA VRS EBRTREICTOmE L
. . k6% 49 S_ph . DR - W$ o [BEEBARIL/A] (2.9
| 3B 39 ' 21 < K> 7 #4872 kPl |70 (7. 1mmH20) (_ L/mings)
1 Y 0 31 0 BUEESEE*  [160LUIAR) 180L(1.5AR) 210L2AR)
U r— w ch — W er .£B32°C73\o42’€§?1 129 9145 #0174
oy ) i £8
| BEERE | 23 6x1287/| 45 HES TEREY PR . AUEY T
— e — L j - BER é? ?gé%jy,epﬁ‘&jz t%uyu%ﬂjj%%éagﬁ;w JEES,
€ =} RL > EE B AERB7Z7I Y, UEI V=TI ER7I T,
) : %w@gffﬂﬁ" = S—R——o0—| 386 R8T (£HHE) TAOONT LRIy b Y =SB I =y b
454 (PSER{F57) (REZU—)
% 1 VOBAEE | ¢12.78%
) E= SmIA P SmId A > :
£ |7 [EEEE | 25n1 088505 | 25m1 0 LA PR o 1 48585 F BRUR#
Y7l %ﬂ—\ ﬂ\ﬂfq—/f tu % \iiﬁﬂ@l‘liﬂq])
K F |BR & E & [25m 1 0 AP [ 25m 1 0 AP B AN
T [Tr[mEEa | 2mi0msien 25 Diuir . RUFH-UEP2407AB2-3(A)
= §E | omHA on AP e (BLE SR :HT4222BRSBAWIPMN)
1) AEOBEN EAS. O EDBE R, BIKEN200KPOL LSBT,
R ot N 3 2 A A N . > 3 o a — A
A EEEEN15nEBA BB R, BAENI50kPa LT, ¥R 2023.06 IREN 1042 A3 | U FAL =T
10

2



